








Perimeter = 4,250’ 

Perimeter adjacent 

to developed = 

3,094’ 

73% of the site 

perimeter is 

adjacent to  
previously-

developed sites 

490’ 
666’ 



85% of the land area 

within a -mile is 

previously-developed 







1/4-mile 

3/4-mile 

1-mile 

1/2-mile 

How many commercial establishments are within a 

-mile? 



1/4-mile 

3/4-mile 

1-mile 

1/2-mile 

How many commercial establishments are within a 

-mile? 







      Intersections 

     Not intersections 



How many intersections are within a half-mile from 

the site? 

a. 15 

b. 22 

c. 40 

d. 55 



a. 15 

b. 22 

c. 40 

d. 55 





WHAT IS THE RESIDENTIAL 

DENSITY OF THIS SITE? 

a. 1.3 units/acre 

b. 2.6 units/acre 

c. 4.5 units/acre 

d. 6 units/acre 

Area: 15 acres 



WHAT IS THE RESIDENTIAL 

DENSITY? 

Lots: 39 

Acres: 15 

Density: 2.6 units/acre 

Area: 15 acres 

Lots: 39 

WHAT IS THE RESIDENTIAL 

DENSITY OF THIS SITE? 

a. 1.3 units/acre 

b. 2.6 units/acre 

c. 4.5 units/acre 

d. 6 units/acre 







      Nodes 

     Not nodes 

      Sharp curve = 

node 

Cul-de-sac = node 

The intersection with 

the adjoining, exterior 
road is not counted 

as a node 



HOW MANY NODES ARE IN 

THIS DEVELOPMENT?  

a. 0 

b. 2 

c. 3 

d. 4 Stub-out 



HOW MANY NODES ARE IN 

THIS DEVELOPMENT?  

a. 0 

b. 2 

c. 3 

d. 4 





HOW MANY LINKS ARE IN 

THIS DEVELOPMENT?  

a. 0 

b. 2 

c. 3 

d. 4 



HOW MANY LINKS ARE IN 

THIS DEVELOPMENT?  

a. 0 

b. 2 

c. 3 

d. 4 



CONNECTIVITY INDEX 

LINKS/NODES 

4/3 

1.3 







Lots: 90 

Density: 6 units/acre 

Lots: 39 

Density: 2.6 units/acre 
















